H & 0l & AHS B Ml A

A MOtSSSH L
Hm: ZQIFETO| X&IHsE BSH P
¢t 2EE ISH 2438
SN - B G(EH) - NRAY - BES 0 & o[-
MOt=SSH 8,461,593 7,899,158
= 607,098 610,848
= 5,904,495 5,488,310
T 1,800,000 1,800,000
£ 150,000 0
FUFEO RSItsE B=sH 8 8,119,038 7,572,718
s 607,098 610,848
s 5,561,940 5,161,870
H 1,800,000 1,800,000
g 150,000 0
g8 ZSH 243 469,400 333,390
02 3sH 243t 73,530 80,790
308 AtXIHMSOIH 43,200 50,460
01 AXIEHELAExS 43,200 50,460
Oottlg ss268 2Z(ZF) 0 7,260
DEAEIRH =& 278,970 225,700
201 Ler2 | 105,700 55,700
01 At 22|l 105,700 55,700
QLA JIRH 2Zetol stss8 50,000 0
308 AEXIHM SO 173,270 170,000
13 I 2SO E &R PE AL 173,270 170,000
OLEANEII2H SHESBAAE |X2el
L 23 13,270 10,000
M=et Ots2tels 29 90,000 0
308 RXIHMSOIH 90,000 0
01 IXSHHBAEES 90,000 0
OsYd M= Ois2tela 24 & 29 90,000 0
QIZHERR K& 1,138,590 1,099,590
MOtSEX 4K 465,020 455,020
403 X HMS 201 87,500 77,500
01 XEXI SR A= E & 87,500 77,500
OAIZ MOI2 AIRA JIsEZ 10,000 0
NSEAY I =4 279,920 255,920
308 REXISHMSOIH 42,000 30,000
01 AXIEH B AERS 42,000 30,000
OAZ AIREHY SLOE N=x 12,000 0
403 XX SHHSA=01H 24,000 12,000
01 X SHA=EER 24,000 12,000
OAlZ IREHY AIRA JISEZ 12,000 0
KALNMHOG JsE2d 5,000 0
403 X HMS 201 5,000 0
01 XXt AH22 £ 5,000 0




2A:

X XH -
o=

MOtSSSH

Fol=Eo| XHItsst SsH 78

s QIZHeEXl X3 (SH9 H2)
A -3 - SRA(3) - MRAY - BES Ofl &F2R 3 A BluEZ

|| ONZ xogwgs Jls22 5,000 0 5,000

MOIEBSH %g Yst 50,000 0 50,000

= 50,000 0 50,000

MOISZEH 29 2412 #x01 50,000 0 50,000

= 50,000 0 50,000

202 01| 50,000 0 50,000

= 50,000 0 50,000

04 = 301 bl 50,000 0 50,000

OMOISZEM 29 24AR HxI0 50,000 0 50,000

= 50,000 0 50,000

NEEWEE] 2,433,308 2,211,748 221,560

2 607,09 607,098 0

= 1,726,210 1,604,650 121,560

= 100,000 0 100,000

A2 UREANEE X 968,660 845,100 121,560

308 XXISHHI SOI 91,660 845,100 106,560

01 XXISHB AR ES %1,660 845,100 106,560

OSHS UASA HEAD 29 310,000 220,000 9,000

O#=0t2 ACILI0IE 24 189,240 184,680 4,560

OAIZ RHESAK 2223t A 12,000 0 12,000

408 TXI SIS RHZOI & 15,000 0 15,000

01 XX =2 15,000 0 15,000

OAZ RHESAMIE JIs2 15,000 0 15,000

= MESANE S4 809,800 709,800 100,000

= 709,800 709,800 0

= 100,000 0 100,000

307 2120 809,800 709,800 100,000

= 709,800 709,800 0

= 100,000 0 100,000

XIEIEPONETES 300,000 200,000 100,000

O2JILis TAeAN T2 29 100,000 0 100,000

= 100,000 0 100,000

T DIZE olMss U 243 139,590 84,590 55,000

QIRHEX| ASE0ME 55,000 0 55,000

307 2124H0I & 55,000 0 55,000

RIEIEPONETES 55,000 0 55,000

OB80 DR 45 S0y 55,000 0 55,000

3olgs 243 1,017,650 972,900 44,750

= 0 3,750 £3,750

= 1,017,650 969, 150 48,500

EQUZSMERE 29 g 332,400 282,400 50,000

201 Y2 332,400 262,400 50,000
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